|6x| = 12 |-6x| = 30 Ix - 10| = 3

7 + x| =7 |-3x%| = -15 x| = 2

x| = -3 |11x| = 110 -x +8§|=9



|6x| = 12
{7, -7}

7 + x| =7
{0, -1%)

j=[ = -3

No Solution

|-6x| = 30
{-5, 5}
|-3x%| = -18

No Solution

11x| = 110
{-10, 10}

Ix - 10| = 3
{13, 7}

| = 2
{-2, 2}

l-x + 8§[=9
{"'ta 1'1}



7|+ 3 =73 %% + 8| = 56 x| +1=2

7|x| = 56 -3|x|= -12 x| +2 =11

10k +2|=-70 |k +8|-5=2 5% + 5| = -45



7x| + 3 =73
{-10, 10}

7|x| = 56
{89 '8}

-10jx + 2| = -70
{S, -9}

Y% + 8| = 56
{6, -22)

-3|x|= -12
{'ts "t}

x +8/-5=2
{-1, -15}

{11 '1}

x| + 2 = 11
{93 '9}

5% + 5| = -45

No Solution



8+52x-1=17 9+3x+2/=12  Mx-6-5=15

9+2x-5=11 -7+2x+8/=9 2x-3+1=5

83x-10(-12=20 2-[2x-5/=7 -6+ |x - % = -6



-8 + §|2x - 1| =17
{33 -2}

9+2x-5=11
{153 '5}

8/3x - 10| - 12 = 20
{14/3, 2}

9+ 3x + 2| =12

{'13 "3}
-7+2x+8/=9
{0, '16}
2-|2x-5|=7

No Solution

-4x -6/-5=15

No Solution

2x -3/ +1=5
{5, 1}

-6+ |x - 4| = -6
{1}



